#A5H25)

ERER-AIERLARSE
I T F B 44E£IFENE | TEnEE| TXRX—HKIFE
T E % EEREEMBZEERERIS
I = 0 B B SEEHEHAETHA
T £ O B E IZERE L=860m. E=z{AljE250x%250 . L=83.5m
I | ZHHEEOZEHISSISEIAISAET
A & A B| <=HM4FI12A12H
¥ T i | 4844400 (AFLE LB {EHE 4,404,000[)
= & & TE| 4221800 (A#LEZLLE{M4E 3,838,000M)

FAXITRERE

12 E B S (X iZE IR/ ME2003-7
BASHHEHES
RERIHER B EAH

EAL(22H9) =8| 4741,000M (BiiAd)
[SEEHRETEFEERPANSSMEORMRUIRERMISLY LRA—KTHTCIL 34
B & B M
UETHED T ZERRALT

5 = AFLEE(F) -
1| XS EHES 4,310,000 EFLRE
2 | BEREHERLAKR 4,320,000

3 AR+ S 4,390,000

4 |[BREMMAES 4,390,000

5 RS XHRILER iR

6 UTRE

7

8

9
10
1
12
13
14
15
16
17
18
19
20




